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FUNC.a Date

FUNC.a.1
Given a table or graph, identify the domain.

Period
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FUNC.a.2
Use function notation to evaluate given domain values.

Evaluat ction for the given domain values using function notatlon Clearly show your
work{ Circle answers.

D flx)=x+2 2) glx)=3n+5;
Find £(8), 7(0), 7(-8) Find g(5), g(0), g(-5)

o £(5)=5+a =(i0) g(5) = 3(c)+s =QR0)
She | _ )
e 2y = 042 =3 () = 3(0)+S = (B)

o | (-5)= 3(-s)+S=|-l0
s | F5)=-8+a=)¢ ] g e B
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FUNC.a.3

Graph a function, provided in function notation, with a given domain,
| :
For the following functions, graph the function with the\domam -1,0, 1, Provide a supporting

table of values.

| A==\ 0, i
Dfx)=5x - 1 2) f(x)=—2x -3
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.a. —y
Given a table of values, describe the function using function notation. D —?&) =MX+ b

For each relation given:
a) Create a function table ( GR[—.EN)

b) Write the rule that describes the function using function notation

¢) And clearly explain how you developed your rule.

1) (-2,1), (-1,2), (0,3), (1.4), (2,5)
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3) (-2,-14), (-1,-12), (0,-10), (1.-8), (2,-6)

2) ('2910): ('155)3 (090)3 (19'5)5 ( L
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Rule: f(x)=2x-10

|f(1)=2(1)-10 =-8

TIP:
Easy way to show work
(check 3 x-values)

f(2)=2(2)-10 =-6
f(0)=2(0)-10 =-10
****always check zerol
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TIP:  
Easy way to show work (check 3 x-values)
-------------------
f(1)=2(1)-10 =-8
f(2)=2(2)-10 =-6
f(0)=2(0)-10 =-10
****always check zero!





